Calculating the Slope of a Line

1. Three lines are plotted on this graph.
A. Which of the following lines has the steepest slope?

B.  We can use the word “shallow” to mean “not steep” (so “steep” and “shallow” are antonym, right?). Which line has the shallowest slope?



2. On the following graph, the rise and the run have been drawn in and labeled. A. The slope of the steeper line is 2 m/s. Why is the numerical part “2,” and why is the unit m”meters per second”?


B. Calculate the slope for the less steep line. Show units!







3. On the following line, three triangles are shown. 
A. Is the slope the same for all parts of the line?
B. Label the rise and the run, then calculate the slope for each triangle.
C. Is the slope the same for all three triangles?





4. Draw a triangle showing the rise and the run of this line, label it, and calculate the slope.


5. This triangle represents a ramp that is useable by people in wheelchairs. Ramps steeper than this are hard or impossible to use with a wheelchair, so they aren’t legal for use as ramps.



Look at each of the following two ramps. Are they steeper than the ramp above? Would they be considered legal? 





Now consider the following two ramps. What value of x would make them legal ramps? 


Length (cm)





5





0





Mass (g)





5





0





Time (s)





8





Rise = 2 m





Run =  6 sec





Run = 1 sec





Rise = 2 m





0





10





Distance (m)





0





5





Time (s)





0





Distance (m)





10





0





60





40





20
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0
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2 inches





x





0.5 inch





x





12 inch





1 inch





1 inch





3 inches





12 inch





1 inch





75
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Time (s)








